MOB SERIES HYDRAULIC CYLINDER

Shafe Dia 16mm 16mm 20mm 20mm 25mm 30mm 35mm 50mm
Thread M14*1.5 M14*1.5 M16*1.5 M16*1.5 M22*1.5 M26*2.0 M30*1.5 M40%*2
Bore 30 32 40 50 63 80 100 125
Stro
50 MOB 30x50 | MOB 32x50 | MOB 40x50 [ MOB 50x50 | MOB 50x50 | MOB 80x50 | MOB 100x50 | MOB 125x50
100 MOB 30x100| MOB 32x100 | MOB 40x100| MOB 50x100 | MOB 50x100| MOB 80x100|(MOB 100x100| MOB 125x100
150 MOB 30x150| MOB 32x150 | MOB 40x150| MOB 50x150 | MOB 50x150| MOB 80x150(MOB 100x150| MOB 125x150
200 MOB 30x200| MOB 32x200 | MOB 40x200 | MOB 50x200 [ MOB 50x200 | MOB 80x200|MOB 100x200| MOB 125x200
250 MOB 30x250| MOB 32x250 | MOB 40x250| MOB 50x250 | MOB 50x250| MOB 80x250(MOB 100x250| MOB 125x250
300 MOB 30x300| MOB 32x300 | MOB 40x300 | MOB 50x300 [ MOB 50x300 | MOB 80x300|MOB 100x300| MOB 125x300
350 MOB 30x350| MOB 32x350 | MOB 40x350| MOB 50x350 | MOB 50x350| MOB 80x350(MOB 100x350| MOB 125x350
400 MOB 30x400| MOB 32x400 | MOB 40x400 | MOB 50x400 [ MOB 50x400 | MOB 80x400|MOB 100x400| MOB 125x400
450 MOB 30x450| MOB 32x450 | MOB 40x450| MOB 50x450 | MOB 50x450| MOB 80x450(MOB 100x450| MOB 125x450
500 MOB 30x500| MOB 32x500 | MOB 40x500 | MOB 50x500 [ MOB 50x500 | MOB 80x500|MOB 100x500| MOB 125x500
600 MOB 30x600| MOB 32x600 | MOB 40x600| MOB 50x600 | MOB 50x600| MOB 80x600(MOB 100x600| MOB 125x600
700 MOB 30x700| MOB 32x700 | MOB 40x700| MOB 50x700 | MOB 50x700 | MOB 80x700|(MOB 100x700| MOB 125x700
800 MOB 30x800| MOB 32x800 | MOB 40x800| MOB 50x800 | MOB 50x800 | MOB 80x800(MOB 100x800| MOB 125x800
900 MOB 30x900| MOB 32x900 | MOB 40x900 | MOB 50x900 [ MOB 50x900 | MOB 80x900|MOB 100x900| MOB 125x900
1000 MOB 30x1000MOB 32x1000|MOB 40x1000/MOB 50x1000[MOB 50x1000MOB 80x1000MOB 100x100dMOB 125x1000

standare

S+{T8

KE

2-PT

DA
[1:]

Ul

Z+{7#8

~a



i3 | oA | ¢B C DxD| DE | E F 1] H S N|[PT| K KE | £

230 30 |16 |M14x15| 50 | 34 | 28 | 13 | 15 | 25 | 50 | 25 | /4| MB | 16 | 128
?32 32 |16 |Miax15| 52 | 36 | 28 | 13 15 | 25 | s0o [ 25 [ /4| M8 | 16 | 128
240 40 20 |M16x15| 64 45 28 17 20 30 50 30 38| MB | 16 147
@50 45 | 20 |Miex1s| 70 | s0 | 28 | 17 | 20 | 30 | S0 | 28 | 38 | M0 | 20 | 145
63 S5 | 25 |M22a15| 85 | 60 | 40 | 20 | 30 | 31 | s0 | 31 | 38 | M0 | 20 | 162
@80 62 30 [M26x15| 106 | 74 40 20 32 37 55 35 1/2 | M12 | 23 179
@100 | 78 | 35 [M30x15|122 | 89 | 45 | 20 | 32 | 37 | & | 37 | 2 [ M4 | 25 | 206
@125 | 85 | 50 [Maox2 | 147 | 110 | 55 | 25 | 31 | 40 | 80 | 40 | 12 |M6 | 27 | 216

Z+iTH




MOB+FB

2-PT
o | o ¢ T T
LA B -
\ i | —
: =18 & %Y
: : : !
o 0 K
L i NS
FR r & Iad
FY E Z+{718
MOBZL FA.FB 5t
i1 1= | 2A | @B C E F | PT Z |eFD | FT FR| FX | FY | FZ
@30 30 16 |Misx1s| 28 13 a4 | 128 | 9 11 80 34 105 | 52
@32 32 16 |Mil4x1s| 28 13 174 128 | 9 1 80 34 105 | 52
240 40 20 |Miex15| 28 17 3/8 | 147 | 12 11 93 50 115 | 72
@50 45 20 |miex15| 28 17 /8 | 145 | 12 11 93 50 115 | 72
@63 55 25 |mM22x15| 40 20 3/8 | 162 | 14 14 117 | 60 140 | S0
@80 62 30 |M26x1.5| 40 20 1wz | 179 | 14 20 152 | 75 120 | 108
2100 78 35 |M3Ix15| 45 20 1/2 | 206 | 16 20 158 | S0 200 | 125
&125 &85 50 |M40x2 55 25 172 | 216 | 18 20 184 | 110 | 225 | 153




i@ V|
1 =
2 g9 an
Fal| T h
E F
T ° X 108
TL
2-PT
& | n =
o i o ?"F:r B
7 i = [ &,
i "
- (D
o oy £l
B B —-‘EJ
= - )
Pl Y
L =g
-
F
By [ CN
BX
E ZCB+i7H8
MOBHRI, CA,CB Buxf;
] = 2A | @B C E F PT |#CD| CR | CN| CVv | BW| BX | ZCB
230 30 16 |Miax1s| 28 13 174 10 10 20 16 17 52 159
@32 32 16 |Miax15| 28 13 174 10 10 20 16 17 52 159
240 40 20 |mMI6x15| 28 17 3/8 12 13 25 22 23 64 182
250 45 20 |miex15| 28 17 38 | 12 13 24 22 23 70 183
263 55 25 |mM22a5s5| 40 20 38 | 20 20 31 29 30 &8s 214
$80 62 30 |M26x15| 40 20 172 30 30 49 30 31 106 | 246
2100 78 35 |M30x15| 45 20 172 35 35 55 35 36 122 | 282
@125 85 50 |Ma0x2 55 25 1/2 35 35 55 35 36 147 | 290




( A V[ HE
©® © e H
—
g Y 1
A ) 9 o
4-9LD
x 1 L4151
LY
MOBZEI=] LB B3
& = PA | ©B C E F PT | LD | LM Lx | LY ZL
@30 30 16 |Mi14x15| 28 13 1/4 10 32 36 52 187
@32 32 16 |Mi14ax15| 28 13 174 10 32 36 52 187
240 40 20 |miex15| 28 17 /8 E] 37 45 &8 171
@50 45 20 |miex1s| 28 17 3/8 11 46 50 73 170
263 ss 25 |[m22x15| 40 20 3/8 11 51 60 88 195
@80 62 30 |m2ex1.5| 40 20 152 13 61 74 105 | 209
@100 78 35 |[mM30x1.5| 45 20 172 16 78 90 127 | 257
#125 85 50 |M4a0x2 55 25 1/2 18 87 110 | 150 271




